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Instructions for the candidates :-

1. wiendl OMR STR—UF$ WR 30T U YRA®I HHid (10 3l )

3rqey ford |

Candidate must enter his/her Question Booklet Serial No. (10

Digits) in the OMR Answer Sheet.

2, el JUTHYT U Yeal H B SR < |

Candidates are required to give their answers in own words as far

as practicable.

3. qIfeN IR BRI W & gU ofd unies fAifde avd 2|

Figures in the right hand margin indicate full marks.

4. gedl Pl eFYdd UgH @ folg wRieRial o1 15 e &1 sfaRed |wd

feam T 2|



An extra time of 15 minutes has been allotted for the candidates to
read the questions carefully.

TE YT—YRAI®T |1 US| H & — WUS—3 U4 EUS—1 |

This question booklet is divided into two sections - Section-A and
Section-B.

Gus—3 H 100 TS U €, NH @ fb8l 50 YAl BT SR oAl
AFErd 21 50 USHl W 3AMH BT IR T W UAH 50 B & HATDHA
BT | Ud® & oy 1 3 FEiRd €1 s9d1 SR o & folu Sucte

BRI MU OMR SR 56 ¥ U U 98 fAdey @7 et/ &lel 97

U9 9 e | B ff YR & gEeR / TR g / =i [/

ARGA T B OMR SR UFd UR UART &RAT A1 8, 3Tgeql URIel
aRYIH 3T BT |

In Section-A, there are 100 objective type questions, out of which
only 50 questions are to be answered. If more than 50 questions
are answered, then only first 50 will be evaluated. Each question
carries 1 mark. For answering these darken the circle with blue /
black ball pen against the correct option on the OMR Answer
Sheet provided to you. Do not use Whitener / liquid / blade / nail
etc on OMR Answer Sheet, otherwise the result will be treated

invalid.



7. Gus—g H 30 g SR U & | ISP & foly 2 3w FeiRa 8, fori
A Bl 15 Tl &1 IR <1 AR 2| 59D AR 59 ©@Us H 8
" I A Ry 1Y €, w_@e & fau 5 ofe fwiRa € R+ 9
fP=El 4 el BT IR <A1 AR 2 |

In Section-B, there are 30 short answer type questions. Each
carrying 2 marks, out of which any 15 questions are to be
answered. A part from these there are 8 Long answer type
questions, each carrying 5 marks, out of which any 4 questions are

to be answered.

8. Pl UBR & Seldciivd SUHRYT BT TIRT QUITAT afoid & |

Use of any electronic appliances is strictly prohibited.

Yus—3l / Section-A

axqf~ss 939 / Objective Type Questions

U3 AT 1 ¥ 100 9P b TP U P AT IR fabey fou v € 98 9 e
HE B, 30 §RT g4 Y Wel fdwed &1 OMR—¥e wR fafed & | f&=<i 50 wesil

BT IR < | (50x1=50)

Question Nos.- 1 to 100 have four options, out of which only one is correct.
You have to mark your selected option, on the OMR-sheet. Answer any 50

questions. (50x1=50)

1. 3T Bie & o DI o ?
(A) e argaT (B) AT



(C) wer (D) @i
Who was the mentor of Auguste Comte ?
(A) Saint Simon (B) Marx
(C) Plato (D) Locke

fereforRaa § @ & IR RN Gied 81 © ?

(A) SIS g (B) f&a w8

(C) o D RRIEEIRED

Which one of the following is not non-government organisation ?
(A) Political Party (B) Interest Group

(C) Press (D) Judiciary

W B AT BT 99 fhad grfg g ?

(A) fageicas g (B) Arge<iTcHe Rigr
(C) I —arTsgdre g (D) Tz g

Sir Henry Maine’s name is associated with :
(A) Patriarchal theory (B) Matriarchal theory

(C) Sex communism theory (D) Neolocal theory

fFreforiad & A fbd Q1 &l Yofid sl o1 BR AT Sl 8 2
(A) RacorRele (B) 3m™iRaT

(C) ard (D) HTST

Which country is called the home of democracy ?

(A) Switzerland (B) America



(C) India (D) Canada
5. frg ST &l ST AR R o <81 8 ?

(A) T (B) Tiie

(C) ait=h (D) g1

Which one of the following Scheduled Tribes has been having a
continuously declining population ?

(A) Meena (B) Gond

(C) Onge (D) Munda

6. VAT B b FAM § A IRIT STl & 7

(A) enfires |HTSl | (B) Sifeet Tl #
(C) nfes vd gue wATSH A (D) srmegfrep TSI H
In which society mainly customary law is found ?

(A) Industrial Society (B) Complex Society

(C) Primitive and Peasant Society (D) Modern Society
7. SIS &7 Uh SSTE}YT 8 HhdTl ©

(A) aRar (B) w%er

(C) wgery (D) STy
Tribe may be an example of :

(A) Family (B) Institution

(C) Community (D) Caste

8. ‘HRTT e A SERT PRE BT 31ef BaT ¢



(A) g Ud Ugyl (B) 3rR—fdarsr

(C) A&pfcr (D) Sifes germard o1
The word caste which is derived from the word casta means :
(A) Purity and Pollution (B) Endogamy

(C) Culture (D) Complex of hereditary qualities
fh=al~ ®el fb "gH srcllidhe wfdd # fawary g ?

(A) TR (B) TR

(C) TR (D) g&™

Who said that, “Religion is the believe in Supernatural being ?
(A) Frazer (B) Tylor

(C) Weber (D) Durkheim
o=t § & @I e gear Bfvad el € ?

(A) fewgare (GIESIERE

(C)dig (D) ¥

Which one of the following religion is not theo-centric ?
(A) Hinduism (B) Christianity

(C) Buddhism (D) Islam

fegR fuma 9w # foas wew ga € 2

(A) 243 (B) 241

(C) 240 (D) 245

How many members are there in Bihar Vidhan Sabha ?



12.

13.

14.

(A) 243 (B) 241
(C) 240 (D) 245

fSeR & fhd gl 3 aifoeel o ot wae 9 Mges Rer &1 ard

CRIR I
(A) #Icier HAR (B) Sira= X #ish
(C) el gdre (D) STy s

Which Chief Minister of Bihar made a law for free education in
graduation for girls ?

(A) Nitish Kumar (B) Jitan Ram Manijhi

(C) Lalu Prasad (D) Jagannath Mishra

b v ‘ICI FAme IS UGl WhIH Bl YBIAW I T off ?

(A) 2014 (B) 2015

(C) 2016 (D) 2017

In which year was ‘Beti Bachao Beti Padhao’ scheme launched ?

(A) 2014 (B) 2015

(C) 2016 (D) 2017

fhd ATST & T FIID U oTSihdl BT 25,000 %0 B BIAGIA <l STl 872
(A) BT QAT JISTT G EEEEEIKEREEI

(C) ST Ao (D) \&eAT IS

Under which scheme graduate girls are given scholarship of 25, 000 ?

(A) Kanya Utthan Yojna (B) Beti Bachao Beti Padhao



15.

16.

17.

(C) Janani Yojna (D) Sabla Scheme

AT AISAT & ded Ub &R bl T & ¥ Uh a1 | fhas fear &

ISR TR=ET & STt & 7
(A) 50 (B) 75

(C) 100 (D) 125

According to MNREGA, an adult in a rural area is assured of how

many days of employment in a year ?
(A) 50 (B) 75

(C) 100 (D) 125

2011 SO & AR 9RA H JOT—ET fUTd T 8 ?
(A) 1000—935 (B) 1000—940

(C) 1000—950 (D) 1000—995

What is the male-female ratio in India as per 2011 census ?
(A) 1000—935 (B) 1000—940

(C) 1000—950 (D) 1000—995
YT T 77 ITAR 2

(A) 3rucTel § fasrerar (B) aRaR &1 ¥
(C) a—TfAuRoT (D) Sudad |+l
What is the treatment for alcoholics ?

(A) Detoxification in hospital (B) Role of family

(C) Self-Motivation (D) All of the above



18.

19.

20.

=1 A D9 gaaey AE § ?

(A) T3, g, q. TSH BT BRI BT &

(B) U=H U, 3MS. 9. & SRV BIdT @

(C) Ta. 378, dl. 3R Usd Ush &1 §HY H Bidl ©
(D) Suad # W BIs &

Which of the following statement is true ?

(A) HIV causes AIDS

(B) AIDS causes HIV

(C) AIDS and HIV happends at the same time

(D) None of the above

TSI &1 S b AET SI1ar © 7

(A) TR (B) gt

(C) ®re (D) ke
Who is considered as father of Sociology ?

(A) Spencer (B) Durkheim
(C) Comte (D) Pareto

fd foq = voar fegw w9 <irar g °?

(A) 31 SR (B) 30 3acaR
(C) 11 SR (D) 14 3aaR
Which Day is celebrated as National Unity Day ?

(A) 31 October (B) 30 October



(C) 11 October (D) 14 October
fI8R # YR yaed A by eEr H aRerd g ?
(A) T (B) uer

(C) gz (D) =1

lIM is situated in which city of Bihar ?

(A) Gaya (B) Patna

(C) Darbhanga (D) Ara

YR & STAYSY & M A fdbeg ST Sy 8 2

(A) s fiE (B) sifora s

(C) srorg fiE (D) wors e

Who is known as Jalpurush of India ?

(A) Sanjay Singh (B) Ajit Singh

(C) Ajay Singh (D) Rajendra Singh
Sffew 77 it sfiear & M | o 7R © 2

(A) Xfd=s HaR Rl (B) #2s AR Rl
(C) o AR e (D) Xrh el HAR gl

Whose name is famous as ‘Dolphin man of India’ ?
(A) Rabindra Kumar Sinha (B) Mahendra Kumar Sinha
(C) Rajendra Kumar Sinha (D) Rakesh Kumar Sinha

feerR & fbam I &1 =T fead o of ?

(A) IS g9 (B) IISTHHAR Y[t

10



25.

26.

27.

(C) HEGIT< Y] (D) STOY®TRT ARV
Who had established Kisan Sang in Bihar ?

(A) Rajendra Prasad (B) Rajkumar Shukla
(C) Sahajanand Sarswati (D) Jai Prakash Narayan
faremer srfefrm fore e o Fwfd © ?

(A) A SedTeT (B) =Ry, e

(C) sregeadT D EIEE s

With which issue is Vishakha Act associated ?

(A) Sexual harassment (B) Domestic violence
(C) Untouchability (D) Human Trafficking
UREpT ST, fh| au @y garr ?

(A) 2009 (B) 2010

(C) 2011 (D) 2012

In which year Posco Act was introduced ?

(A) 2009 (B) 2010

(C) 2011 (D) 2012

frgiv oel f& wwre dud W fasr ura far gan dganT 7 °?
(A) HPIZR TG Ul (B) Sira+

(C) e (D) AT

Who said, society is cooperation crossed by conflict ?

(A) Maclver and Page (B) Johnson

11



28.

29.

30.

31.

(C) Bierstedt (D) Marx

TRI BT UBTSAT H BTG AR BT &I I FT o |

(A) T HF B o forg (B) #feRl # YR

(C) IoHfde ar &1 FRuaR! (D) f&=m

What was the main objective of he Hajong Movement in he Garo hills ?
(A) To reduce rent (B) Corruption in temple

(C) Arrest of Political leaders (D) Violence

AR |1 ATl Fa9 Ugel [ 50 H g% @l Mg o ?
(A) fder (B) SR 2T

(C) ustre (D) afirerrg

In which state Mid-day meal scheme was first introduced ?
(A) Bihar (B) Uttar Pradesh

(C) Punjab (D) Tamil Nadu

5 MY 8 & AN 3fcel U ISl BT AT I Hdhd © 7
(A) 18—40 (B) 15—40
(C) 20—40 (D) 25—40

Persons of which age group can avail the benefits of Atal Pension

Yojana ?
(A) 18—40 (B) 15—40
(C) 20—40 (D) 25—40

I T &1 966 goil & oIy BiF RSFarR 2 2

12



32.

33.

(A) I8 Y=mId BT U= (B) UTH IHT BT 3fee]

(C) U™ Y=mrad &l Afed (D) T =

Who is responsible for Calling Gram Sabha meetings ?

(A) Panch of Gram Panchayat (B) President of Gram Sabha

(C) Secretary of Gram Panchayat (D) Gram Pramukh
Gl H afye [davvr 3R gamad & aiide WRIfa Rule &1 qHIer &A1 [t

T B ?

GVRILREIEE] (B) fremm vamad

(C) U™ |1 (D) Teldex

It is whose function to review the annual statement of accounts and
annual progress report of the Panchayat ?

(A) Gram Panchayat (B) Zila Panchayat

(C) Gram Sabha (D) Collector

GETel RTST el &l Jel Seed FfeiRad H | fhy gHlRed & 2 ?

(A) fawrg § AR BT ARy (C)RISEIREASEIEES

(C) dlrapdiiHa fadb=IdRul (D) amfies gdienvor

The fundamental objective of ‘Panchayati Raj system is to ensure
which among the following ?

(A) People’s participation in development

(B) Political accountability

(C) Democratic decentralization

13



34.

35.

36.

(D) Financial Mobilization

G RS faa d A>T STl 8 2

(A) 15 ST (B) 26 IR

(C) 24 e (D) 2 rFea”
When is Panchayati Raj Day celebrated ?

(A) 15 June (B) 26 November
(C) 24 April (D) 2 October
fo=giv i Td erifaeds Hwepfcr H1 araemon <1 & ?
(A) CTIeR (B) Sifirar

(C) IR (D) evaifacH

Who has given the concepts of Material and Non Material culture ?

(A) Tylor (B) Ogburn
(C) Krober (D) Hershkovits
= # | Ry ardt awar fees 99t 2 °?

(A) UTHIOT Rl (B) T el

(C) irenffres |wid (D) enfie awran

Indus Valley civilization is associated with which of the following ?
(A) Rural Civilization (B) Urban Civilization

(C) Industrial Civilization (D) Religious Civilization

St aRYg & B9 T B FHaT & ?

(A) RSTeT gamad 3reuer (B) I WRBHR

14



(C) = PR (D) vgrga AfAfdy & e
Who can dissolve a Zila Parishad ?
(A) Zila Panchayat President (B) State Government

(C) Central Government (D) Chairman of Panchayat Samiti

AP 1 S0SAT BRIHH Bl YOAT Hd 8s ?
(A) TTGeR 2012 (B) STFTa’T 2014
(C) fadeR 2014 (D) R+ 2016

When ‘Make in India Programme was started ?

(A) November 2012 (B) January 2014
(C) September 2014 (D) September 2016
qoerdre’ o1 Rigr< fb=sid gfdurfad fbar ?

(A) gEH (B) T

(C) aR (D) T

Who has propounded the theory of ‘Positivism’ ?
(A) Durkheim (B) Spencer
(C) Weber (D) Comte
WITHAT Sootaell Al 4 ¥ fhaw et g ?

(A) PIRTT UaTd Bl GESIEREIENE]
(C) Tdl. UI. ST, FHa=H (D) fasTelt T

15



41.

42.

43.

Pradhan Mantri Ujjwala Yojana is associated with which of the

following?
(A) Skill imparting (B) Financial inclusion
(C) LPG connection (D) Electricity connection

HEIRET T arferept ety foyg a9 g o ar o ?

(A) 2003 (B) 2004

(C) 2005 (D) 1992

In which year Kasturba Gandhi Balika Vidyalaya was started ?
(A) 2003 (B) 2004

(C) 2005 (D) 1992

BT G AT § WA Gl & oIy urd dsdl &1 Afedad g =T
2?

(A) 7 et (B) 8 &1

(C) 9 AT (D) 10 AT

What is the maximum age of a girl eligible for opening an account in
Sukanya Samriddhi Yojana?

(A) 7 years (B) 8 years

(C) 9 years (D) 10 years

fr=ferRad & & fow aor &1 Seeg aifaaRi & faer | ¢ ?

(A) fa=rm cesit Fror (B) v fRrg) A Aot

(C) vearrTa= =1 Aqfg ror (D) YT=THAT aTfoTenT GRE ATSTT

16



44.

45.

46.

Which among the following is a scheme that is aimed at the

development of girl child in the country ?

(A) Vidya Lakshmi Yojana

(B) Pradhan Mantri Shishu Vikas Yojana

(C) Pradhan Mantri Sukanya Samridhi Yojana
(D) Pradhan Mantri Balika Suraksha Yojana
31fTaer Wil AT &1 Hay fg Al |H 8 ?
(A) §ift (B) gfersy
(C) BrmS (D) Sraery

Agnipath recruitment is related with which job ?
(A) Military (B) Police
(C) Home Guard (D) Excise

~ O O\

SIRIerdtol foaar fasm= 8 ?

(A) gzt (B) =T
(C) g (D) wfga
Gerontology is the science of whom ?

(A) Children (B) Aged

(C) Youth (D) Women

s, 31 FfAfTIH, 2000 BT A gRT H WER IR bl gRYMST fbar Tam

g7

(A) 66 U (B)e7 ©

17



47.

48.

49.

(C)e9 T (D) 151

In which Section of I.T. Act, 2000 cyber crime is defined ?

(A) 66 A (B) 67 A

(C)69 A (D) 151

IR Aided & fhq orfeee H Soiadl & folt ARSRI ARl

BT YTl 87?
(A) 335 (B) 244
(C) 15 (D) 341

Under which article of the Indian constitution there is provision for

reservation in the government services for tribes?
(A) 335 (B) 244
(C) 15 (D) 341

= # 9 o9 amote R @1 iuaiRe arE g ?

(A) werr (B) &rgd

(C) Srrirfert (D) STsfeat

Which of the following is the formal means of social control ?
(A) Custom (B) Law

(C) Folkways (D) Mores

T § B TRl H IR BT J&F BRI T 2

(A) UFDHT FEh (B) 38T HER a=er]

(C) ¥t s (D) %\ aRadt

Which among the following is the main cause of urban crime ?

18



50.

51.

52.

53.

(A) Metal Road (B) Good communication system

(C) Material Properity (D) Slum area
fep~gl~ JTfel 1 wifcrep Ug Afdes wvfd & wy H aifiad fbar € ?

(A) o (B) #cH

(C) et (D) gt

Who has classified progress into material and moral progress ?
(A) Comte (B) Merton

(C) Marx (D) Durkheim

fehgl ufRerfieRoT BT SfaeRon <F & ?

(A) ®Tre (B) arr fig

(C) sxTadl & (D) va. T, AifFard
Who has given the concept of Westernization ?

(A) Comte (B) Yogendra Singh

(C) Iravati karve (D) M. N. Srinivas

f=ifed § 9 B urafis g &1 SR 7 P

(A) IRaR CINSRIGERIE]

(C) Fet@ (D) 813 wa

Which among the following is an example of Primary group ?
(A) Family (B) Political Party

(C) Club (D) Student union

TIAT WIS YD & @d DI © °

19



54.

55.

56.

(A) Rr=et (B) 3ifre

(C) HprgaR (D) fraet Sfad
Who wrote the book ‘Human Society’ ?

(A) Ginsberg (B) Ogburn

(C) Maciver (D) Kingsley Davis
3TN Brdd< Bl fba=n ArFey fAerdr & ?

(A) 1000 (B) 2000

(C) 2500 (D) 3000

How much honorarium is given to Asha Worker ?
(A) 1000 (B) 2000

(C) 2500 (D) 3000

gouTef & SifcH oedr FaT § P

(A) BH (B) A

(C) Arer (D) &

What is the ultimate goal of Purushartha ?

(A) Karma (B) Dharma
(C) Moksha (D) Kama

= 9§ 9 o9 aEifye faera @1 favmdar [8t 8 ?

(A) BT (B) Sauredhar
(C) Sifeerar (D) wTaeT

Which of the following is not the characteristic of social development.

20



57.

58.

59.

60.

(A) Efficiency (B) Productivity
(C) Complexity (D) Humanity
FTfeiRaa § i &g FATS BT IR 91N H 39T aRaT & 2

(A) oT =raRerT (B) s e

(C) STfr era=er (D) o <ga=er

Which of the following divides Hindu society into Four Parts ?

(A) Varna System (B) Ashram System
(C) Caste System (D) Class System
R1ees feaw & w1 Smar 2 2

(A) 5 Ry (B) 7 Ricwr

(C) 2 3ragR (D) 14 Fa¥R

When ‘Teacher’s Day’ is celebrated ?

(A) 5 September (B) 7 September

(C) 2 October (D) 14 November

fewg |ArSl H fobe =il o =<l & g B ?

(A) T (B) &

(C) =R (D) df=

How many yajnas have been described in Hindu society ?
(A) Two (B) Three

(C) Four (D) Five

fhaT BB "FHATSTY 3R AR Sedl 98+ & ?

21



61.

62.

63.

(A) IR, ST (B) IaR

(C) A rawan! (D) e

Who said “Sociology and Anthropology are twin sisters” ?
(A) R. Brown (B) Kroeber

(C) Malinowski (D) Gisbert

g8 faTeT 1 A fhd dvg & Thdl 9 8 2

(A) ATaIdT T G EIRERETI

(C) Fif3e gepe (D) wmIfSTe Yebett
Which type of solidarity associated with division of labour ?
(A) Organic Solidarity (B) Economic Solidarity
(C) Mechanical Solidarity (D) Social Solidarity
gagRar = § | foas g1 e ?

(A) IRAR (B) garte

(C) e (D) &fY

Ghumkuria is associated with which of the following ?

(A) Family (B) Youth organisation

(C) Religion (D) Agriculture

fAdee & Sfed &I fod w7 & 79137 ST © 2
(A) = g (B) gar feaw
(C) fe=g faaw (D) ¥rg feas

Vivekanand’s birthday is celebrated as :

22



64.

65.

66.

67.

(A) Sanyas day (B) Youth day

(C) Hindu day (D) Rashtra day

HY & fU S |1 IRaR IR & 2

(A) dgad aRdIR (B) faemRd ufRar

(C) et uRaR (D) 79 g aRar

Which one of the following family is favourable for agriculture ?
(A) Joint Family (B) Extended Family

(C) Single Family (D) Neo Local Family
o # F DT oA BT THIfad HRA dTel BRP A8 § 2

(A) Stfaarg (B) @miies

(C) ARG (D) arfie

Which of the following is not a factor influencing fertility ?
(A) Biological (B) Social

(C) Entertainment (D) Religious
frfaRed § & = @1 freiaar &1 eRe T8 7 ?

(A) 3rferer (B) STfar ega=er

(C) ¥<rarR (D) d8aR W@y
Which of the following is not the factor of Poverty ?

(A) lllitracy (B) Caste System

(C) Corruption (D) Better Health

HETAT T & TSI [ BId o 2

23



68.

69.

70.

(A) TTTUTel HT T e (B) guTE AR

(C) === IR (D) STATERAT 8%

Who was the Political Guru of Mahatma Gandhi ?

(A) Gopal Krishna Gokhale (B) Dayanada Saraswati
(C) Rabindranath Tagore (D) Jawahar Lal Nehru
IRA H BIF Uh Ied Y= &% & foIg RTeR 81 & ?

(A) aret faare (B) e @1 3rma

(C) T4 STetary (D) faers faare

Which one is not responsible for high birth rate in India ?
(A) Child Marriage (B) Lack of education

(C) Hot Climate (D) Late marriage

SO faers @ forv feas i e ifa &1 Rigra fear ?

(A) 3R gfeas (B) R
(C) Sft. w1, gRA (D) =

Who has given “National Park Theory” for tribal development ?

(A) Varrier Elwin (B) Spencer

(C) G. S. Ghurye (D) Merton

bl ®gl, “®rd SREAT &7 7
(A) FETHT el (B) faaar—<
(C) srfa=1 (D) a4

Who said “Work is worship” ?

24



71.

72.

73.

74.

(A) Mahatma Gandhi (B) Vivekanand
(C) Arbindo (D) Weber
f=faRad § o9 favre TR 8 7

(A) TR (B) 9TTeTyR
(C) gem (D) 75
Which of the following is ‘Mega City’ ?

(A) Banglore (B) Bhagalpur
(C) Patna (D) Madurai

TR U B A d81 Afeld i1 b 57 7 @Rerd & ?
(A) FERTSE (B) fagr

(C) ST wew (D) f¥rerarg

In our country the biggest slum is found in which state ?
(A) Maharashtra (B) Bihar

(C) Uttar Pradesh (D) Tamilnadu

TRUIABT B AT & oIy ~gAan STt fea g anfgy ?

(A) 20,000 (B) 15,000
(C) 10,000 (D) 35,000
How much population is required for establishment of Municipality ?
(A) 20,000 (B) 15,000
(C) 10,000 (D) 35,000

3s. 1. SI. U9, ¥ oy @ & q=al & oy Yo fvar 17 o ?
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75.

76.

77.

(A)O-6 (B)7-9

(C)8-10 (D)9 -12

ICDS was introduced for which age group of the children ?

(A)O-6 (B)7-9
(C)8-10 (D) 9 -12
qRgar & forg fban drea FeiRa g 2

(A) 3000 (B) 4000
(C) 2500 (D) 5000
How much Honourium is Fixed for Mukhiya ?
(A) 3000 (B) 4000
(C) 2500 (D) 5000
= H | 39 anfeardl JeR § ?

(A) TRge (B) ©a

(C) Breh (D) 959re
Which of the following is a tribal festival ?

(A) Sharhul (B) Chhath
(C) Holi (D) Bakrid
T ¥l fbd ST | urm S g 2

(A) TTHIOT TS (B) T I

(C) ofg T4 (D) SUTR HHIG

The Slum is found in which society ?
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(A) Rural Society (B) Urban Society
(C) Micro Society (D) Semi-urban Society
78. A qu Sfva=T Tl AIg AT B P Bl T off ?
(A) 2008 (B) 2010
(C) 2012 (D) 2015
In which year Indira Gandhi Matritva Sahyog Yojana was launched ?
(A) 2008 (B) 2010

(C) 2012 (D) 2015

79. A Iy ARG AfGTHROT BT IS H2H g bl T off ?
(A) 15 3T 2010 (B) 15 3T 2011
(C) 15 31agsR 2010 (D) 15 3ragsR 2011

In which year national mission for empowerment of women was

launched ?
(A) 15 August 2010 (B) 15 August 2011
(C) 15 October 2010 (D) 15 October 2011

80.  fd oy AR gou AT @I YHIATT Bl TS off ?
(A) 2012 (B) 2015
(C) 2017 (D) 2018
In which year women helpline scheme was launched ?
(A) 2012 (B) 2015

(C) 2017 (D) 2018
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81.

82.

83.

84.

IRA & UM Afgell Igufd diF off ?

(A) wfcrar arfee (B) 9RT BHR

(C) BT 7 (D) AT TSt
Who was the first women President of India ?

(A) Pratibha Patil (B) Meira Kumar

(C) Draupdi Murmu (D) Sushma Swaraj
B A ST ST @I WTel & g9 IR 999 &l © 2

(A) T (B) B

(C) Jerreht (D) vrer

Which of the following tribes live in the bay of Bengal Island ?
(A) Khasha (B) Kuki

(C) Juangi (D) Jarwa

AT STt fbd gasr § uril oIt § ?

(A) fieR (B) T

(C) v (D) 3r5UI=d U<el

In which the state Mini tribe is found ?

(A) Bihar (B) Telangana

(C) Kerala (D) Arunachal Pradesh

TR FHISTIG BT Ugell UTe el g 8§ ?
(A) R ¥qpet (B) hHHE el
(C) Uk ¥ehel (D) g% ¥
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85.

86.

87.

Which is first school of Urban Sociology ?
(A) Chicago School (B) Frankfurt School
(C) Paris School (D) Mumbai School

= # 9 B9 a8fhd 91a f[Ae™ Ao & I T8 oar © ?

(A) IRIR e (B) dreoy

(C) |y e (D) ErepTehRor

Which among the following is not covered under ICDC Programme ?
(A) Family Planning (B) Nutrition

(C) Health Education (D) Immunization

e & B SRIg STolfa & 9N 2 2

(A) gosr (B) Zoy

(C) TrerT (D) ArTgfRan

Which of the following is the language of Oraon tribes ?
(A) Mundari (B) Kurukh

(C) Telgu (D) Nagpuria

“HEAT ST divad © ?

(A) 3rETg Afgerail i) (B) freniRal wR
(C) #rged ot (D) s & =
“SABLA” scheme focuses on :

(A) On destitute women (B) On adolescent

(C) Maternity benefits (D) All of these
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88.

89.

90.

91.

PR % B gogex # 9y @ forg Soverl anife erE R ?
(A) 911 faare (B) @18

(C) 7™ (D) RISTTRI

Which is the economic factor of responsible for increasing mortality ?
(A) Child Marriage (B) Flood

(C) Epidemics (D) Unemployment
TICH' Tea BT AAYLH Foold Bd 83Tl ?

(A) 1795 (B) 1791

(C) 1895 (D) 1891

When was the word ‘Totem’ first introduced ?

(A) 1795 (B) 1791

(C) 1895 (D) 1891

JUST SISl & Jar]e &l &l 9 © ?
(A) e R (B) gaafRar
(C) ffaraier (D) et

What is the name of youth dormitory of Munda tribe ?

(A) Solani Digo (B) Ghumkuria

(C) Gitiora (D) Gotul

=1 § & B9 gusT Selfa @ YRIR Fawer g ?

(A) fagerers aRar (B) WIS TRAR

(C) T (A) @R (B) (D) FeRerT gRaR
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92.

93.

94.

Which of the following is the family system of Munda tribe ?

(A) Patriarchal Family (B) Matriarchal Family

(C) Both (A) and (B) (D) Neolocal Family

IRa H fFrefaiad 9 9 SH—41 gcd a3 AR & oy STRarR 2 ?
(A) ST gfg (B) fefir argume

(C) amfefe fawrd (D) enffie e

Which of the following factor contributes to regional disparities in India?
(A) Population Growth (B) Sex ratio

(C) Economic Development (D) Religious Development

fRrfera RIS & folv pH—a1 dRe IR 8 ?

(A) BN BT IRARTTT TR (B) Sryyui e yommedt
(C) arwrfed |y (D) STae=T

Which factor is responsible for ‘Educated Unemployment” ?
(A) Traditional Form of Agriculture (B) Defective Education

(C) Unorganised Agriculture (D) Population
TMHIOT—TTRIY AT BT IR fhas <7 & ?

(A) T. 3R, 3918 (B) HRIfdA

(C) ¥stbiee (D) TR g3
Who was given the concept of rural-urban continuum ?
(A) A. R. Desai (B) Sorokin

(C) Redfield (D) Shyamacharan Dubey
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95. XTZATE T 31T ® ¢
(A) ETT |G g (B) A= STfoTd oA
(C) W Hrmfers g (D) wrr nfeie gfH
Nationalism means :
(A) Common social background
(B) Common Caste background
(C) Common geographical background

(D) Common economic background

96. IR D & AR 77 § F B A wRI & 799 BT 417 781 © 2

(A) Breuf-h wR (B) TomHD ¥R

(C) ®ur=IRd R (D) HHRIHD FR
Which is not a part of Auguste Comte’s Law of three stages ?
(A) The theological stage (B) Metaphysical stage

(C) Metamorphic stage (D) Positive stage

97. T ®al, “HHToT IS U a2

(A) et (B) et

(C) aR (D) g&i™
Who said, “Sociology is a science” ?

(A) Marx (B) Simmel
(C) Weber (D) Durkhiem

98. ‘fifliucd offs AIRMIER (W& & d@d $IF 8 ?
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(A) gIEeT gEM™ (B) 91, 4. =
(C) | (D) e

Who is the author of the book ‘Principles of Sociology ?

(A) Emile Durkheim (B) P. V. Young
(C) Spencer (D) Comte

99. T8 AR BT GIERYT BT A+ AT 91T HBT © 7
(A) BoR (B) aifTa
(C) s¥mIfacH (D) ergerk

Who has called Culture as a man made part of environment ?
(A) Frazer (B) Ogburn
(C) Harshkovits (D) Tylor

100. 8’ AMGRNI & o ool & Iravld 3MmaT & 2

(A) TIfie AderT (B) fg<dirae Arier)

(C) qeirges Ardar) (D) =qei® e
‘Brother’ comes under which category of Kinship ?
(A) Primary Kin (B) Secondary Kin
(C) Tertiary Kin (D) Quadriple Kin

¥Yuvs—9 / Section-B

oY S 939 (Short Answer Type Questions)

U W& 1 9§ 30 Y SN 2| Rl 15 Ul & SR | IS U B folg 2
siw PefRa 2| (15x2=30)
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Question Nos. 1 to 30 are Short Answer Type. Answer any 15 questions.

Each question carries 2 marks. (15x2=30)

1. ol 9 <) e Rearel @ e w
Discuss two main features of Varna.
2. arfernt RIg] @1 AT BT quid N |
Describe the problems of girl child.
3. TRHAT YR ATl &1 & 7
What is Chief Minister’'s Poshak Yojana?
4. o7 Ud 99 9 iR W o |
Explain the difference between gender and sex.

5, o fARverar |7 B ?

What is Secularism ?
6. D b el Sl & ?
Who is called Minority ?
7. SR & IR Al Bl ford |
Write four means of Mass Communication.
8. SIS DI gR¥IYT & |
Define Tribe.
9. 39 THUART & 3MY R FHT & 2

What do you mean by Drug Abuse?
10.  WAoi® Siad § I<™R & &I IS0 &f ford

34



11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Write two examples of corruption in Public Life.
IERIBIT & 3MY RIT FHT & 2

What do you mean by liberalization.

A Tt DI JTEROM Bl TE PN

Explain the concept of Tripple Talaq.

fepTE @1 <1 eIl BT auie N |

Decribe the two conditions of Nikah

gfirare ey @ ® ?

What is seconadary kinship ?

e & HEd &I fade=T o |

Discuss the importance of Mahar.

SITfd @7 g7 fa9ruansi &1 guie & |

Describe the two main features of Caste.
Il AHY MY T A & 2

What do you mean by Child Trafficking ?
fe=g foae & 31 I FT Ieokd PN |

Explain the two aims of Hindu marriage.
3T SRISHTNY T & 2

What is Quasi-unemployment.

T, 3. 4. | AT AT FHIA © ?

What do you mean by HIV ?
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21.

22.

23.

24,

25.

26.

27.

28.

29.

30.

RIS Uehell a1 € 2
What is National Integration ?

goiTued faare T aR«Tid o |
Define Prajaptya marriage.

URER AIGRT Bl T BN |

Explain avoidance Kinship usage.
3fcfdars &I gR¥Td & |

Define Endogamy.

AR e Thdl 1§ ?

What is cultural unity ?

TGO | MY FI7 FqAS & ?

What do you mean by Urbanization ?
qRT & it Y e B

Discuss the functions of Mukhiya.
TR uRyg @1 8 ?

What is Nagar Parishad ?

FETT JMSH & IR daedl IR YBT3 Sl |

Throw light on four duties of Brahmacharya Ashram.

AP TRIBRUT &b AR IMERT BT ford |

Write four bases of Social Stratification.

4" ST 939 (Long Answer Type Questions)
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o AT 31 W 38 41 ST U B bl 4 UTHI b SR T | YIS b fIU 5
3 feriRa & (4x5=20)

Question nos. 31 to 38 are Long Answer Type Questions. Answer any 4

questions. Each question carries 5 marks. (4x5=20)

31. U] XIS &GS U hraf ol fad=mT o3 |

Discuss the organization and functions of Panchayati Raj.

32. TqioTe URaa § JGIHN0T & gdTat & fada=T & |

Discuss the impact of Globalization in Social Change.

33. = fUwer I &1 THRIRN BT Sooikd & |

Explain the problems of other Backward Communities.

34. I AP B TR R Th [eer ford |

Write an essay on Problem of Child Labour.

35. MR FATS Ud G¥pid &I faevarsii &1 faoemr o |

Discuss the features of Indian Society and Culture.

36. SSITC FATST | i A1l U 6”& aRidbl @l fada=T & |
Discuss the ways of acquiring mates in tribal societies.

37. Ofd Ud @ # IR T o |
Distinguish between Caste and Class.

38. TR H RIS & HRON BT Soold BN |

Explain the causes of unemployment in India.
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